The following output was obtained.
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a. What is the sample size?

b. Compute the value of R2.

c. Compute the multiple standard error of estimate.

d. Conduct a global test of hypothesis to determine whether any of the regression coefficients are significant. Use the .05 significance level.

e. Test the regression coefficients individually. Would you consider omitting any variable(s)? If so, which one(s)? Use the .05 significance level.

SOLUTION:
a.
n = 26

b.
R2 = 100/140 = 0.7143

c.
1.4142, found by [image: image2.wmf]2


d.
Ho: (1 = (2 = (3 = (4 = (5 = 0
H1: Not all (‘s are 0
Reject Ho if F > 2.71


Computed F = 10.0. Reject Ho. At least one regression coefficient is not zero.

e.
Ho is rejected in each case if t < (2.086 or t > 2.086.


X1 and X5 should be dropped.
